Goniometrické funkce

X 0’ 30° 45° 60° 90°
sin x 0 Z Y N2 % N3 I
cos X 1 Y% N3 % N2 A 0
1g x 0 %3 1 V3 -
cotg x - V3 1 %3 0

sin (x+y) =sinx.cosy +cosx.siny
sin (x —y) =sinx.cosy—cosx . siny
cos (x+y)=cosx.cosy—sinx.siny
cos (x —y)=cosx.cosy +sinx.siny

0(+B .COSO(-[3

sin ¢ +sin B =2.sin

2 2
sin o —sin B=2.cos°(+B .sinO(—B

2 2
coso(+cos[3-—‘—-2.coson‘B .cos()(;B
coso—cosp= —2.5sin B gin a—p

2 2

Mocniny
(axb)’=a’+3 a’b+3ab’+b’

Mocninné soucty
X2+ x2=(x, +x,) — 2%, X,

4 x=(x+x,) =3%, x5 (x,+x,)
Xt xd=(x,+x,)  —4x, x,(x7+ x%_)——6xfx§

Logaritmy - pro pripustné hodnoty:
log, (xy)=log,x +log,y
log, (-’;- )=log,x—log,y
log, x*=klog,x

_log,x

“log,a

x= alogﬂx

log, x

sin2x=2.8nx.cosx
cos 2x = cos *x — sin ’x
sin’x + cos’x =1

AP+ B =(A+B)(A*FTAB+ B?)




